Name: Date:

Teacher: Class:

Addition 409

I Why did the elephant stand on the marshmallow? So he
wouldn't fall into the hot chocolate.

Add these numbers to find the total.

- 540 2 898 3* 675 4 238 > 681 °© 985
+ 218 + 100 + 311 + 541 + 115 + 114

7280 & 937 ° 594 1 g8 i 377 12 550
+300 +132  +101  + 171  +522  + 437

13 223 1 360 5 715 16 565 17 648 18 502
+344  +416  +134  +210 +200  + 156

1. 742 2. 213 2. 723 2 514 B 254 2 425
+ 242  +375  +203  +425  +700  + 403

5. 232 % 463 2 850 2 482 2 667 0 498
+314  +211  +111  +200  +130  + 401

3. 113 3% 559 33 300 34 286 3 719 3% 521
+ 643 + 120 + 599 + 302 + 170 + 148

. 748 ¥ 652 3 546 4O 485
+220 +326  +221  + 314

© Facilitators Ferriswheel WS#:Add409 Score:



Answer Key Date:

Teacher: Class:

Addition 409

Why did the elephant stand on the marshmallow? So he
wouldn't fall into the hot chocolate.

Add these numbers to find the total.

- 540 2 898 3* 675 4 238 > 681 °© 985
+ 218 + 100 + 311 + 541 + 115 + 114

/58 998 986 /79 796 1,099

7280 & 937 ° 594 1 g8 i 377 12 550
+300 +132  +101  + 171  +522  + 437

980 1,069 695 999 899 987

13 223 1 360 5 715 16 565 17 648 18 502
+344  +416  +134  +210 +200  + 156

967 /76 849 /75 848 658

1. 742 2. 213 2. 723 2 514 B 254 2 425
+ 242  +375  +203  +425  +700  + 403

984 588 926 939 954 828

5. 232 % 463 2 850 2 482 2 667 0 498
+314  +211  +111  +200  +130  + 401

946 674 961 682 797 899

3. 113 3% 559 33 300 34 286 3 719 3% 521
+ 643 + 120 + 599 + 302 + 170 + 148

/56 679 899 588 889 669

. 748 ¥ 652 3 546 4O 485
+220 +326  +221  + 314

968 978 /67 /99

© Facilitators Ferriswheel WS#:Add409 Score:



